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JAVA API FOR UDP SOCKETS
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— send (DatagramPacket)
- receive (DatagramPacket)
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UDP Client
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import java.net.®;
import java.io.®;
public class UDPClient{
public static void main(String args[]){
try {
DatagramSocket aSocket = new DatagramSocket();
byte [] m = args/()].getBvtes();
Inetdddress aHost = Inetdddress. getByName(args[1]);
int serverPort = 67589;
DatagramPacket request = new DatagramPacket(m, args[0] lengthy),
aHost, serverPort);

aSocket. send(reguest);
byte[] buffer = new byte[1000],;
DatagramPacket reply = new DatagramPacket{buffer, buffer.length);

aSocket.receive(reply);
System.out. println("Reply: " + new String(reply.getData()}),
aSocket.close();
featch (SocketException ej{ System.out.printin("Socket: " + e.getMessage()).
featch (10Exception e){Svstem.out.printin("l0: " + e.getMessage());}
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UDP Server
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import java.net.™;
import java.io.®;
public class UDPServer{
public static void main(String args{]J)}{
tryf
DatagramSocket aSocket = new DatagramSocket(6759);
bvte[] buffer = new byte{1000];
while(true){
DatagramPacket request = new Datagram Packet(buffer, buffer.length);
aSocket. receive(request);
DatagramPacket reply = new DatagramPacket{reguest. getData(),
request.getlength(), request. getdddress(), request. getPort());
aSocket.send(reply);
/
featch (SocketException e){System.out.printin{"Socket: " — e.getMessage());
featch (10Exception e) {System.out.println("10: " — e.getMessage(});}

/
/




